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Which one of the following pairs regarding Indian nationalism is correctly matched?

A B :
SN Leaders (Contribution S-NLeader Cc.mtrlb
o o s ution
() Sardar P [Hindustan Socialist Repub (b) Bhagat [Swaraj
atel lican Army Singh  [Party
C |s.N|Lead [Contributi D[s.N
- |-ead Lontributl " |Leaders Contribution
o |ers |on o
©) C.R. [Bardoli Sat (d) Jawahar Lal Oudh Kisan
Das |yagraha Nehru Sabha

Arrange the following events in chronological order and choose the correct option from the following:
1. Treaty of Constantinople
2. Defeat of Napoleon
3. Unification of Italy
4. Unification of Germany
Options:

A LIl IVandlll B I, lll, land IV CIL I IVandll DIV, I Illand Il

Choose the correctly matched pair.

A Primitive subsistence farming — practised on large B Intensive subsistence farming — single crop

patches of land production farming
C Commercial farming — use of higher doses of D Plantation farming — practised on small patches of
modern inputs land

Which of the following pair is correctly matched?

A Alluvial Soil - Western Rajasthan B Black Soil - Northern Plain
C Arid Soil - Deccan Plateau D Laterite Soil - Western Ghats

Cargill Foods, a very large MNC, is the largest producer of edible oil in India. Which one of these countries does it
belong to?

A India B France
C Great Britain D United States of America

Read the given statements and choose the correct option with regard to Rabi cropping season from the following:
1. Rabi crops are sown in winter.
2. Sown from October to December and harvested from April to June.
3. Important crops are Maize, Cotton, Jute.
4. Punjab, Haryana, Uttar Pradesh are important for the production of wheat.
Options:

A | llland IV B I, llland IV C Il lland IV D I, Iland NI

In which one of the following ways has ‘information and communication technology’ stimulated the ‘globalisation’
process the most?

B Access raw material across countries
D Access information instantly across countries

A Access foods across countries
C Access services across countries
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Match the Column — A with Column — B and choose the correct option:

Column - A (River) Column - B (Dam)
l. Mahanadi 1. |Sardar Sarovar
Il Narmada 2. |Hirakud
Ill.  |[Chambal 3. [Salal
IV.  (Chenab 4. |Rana Pratap Sagar
A 43,21 B 3,412 C 21,43 D 1,2,3,4

Which one of the following statement is false about Alluri Sitaram Raju?

A He claimed he had special powers. B He was inspiredby the non-co-operation movement.
C He believed in the principle of non-violence D He persuaded people to give up drinking.
advocated by Gandhiji.

Which of the following revolutions is called as the first expression of ‘Nationalism’?

A French Revolution. B Russian Revolution.
C Glorious Revolution. D The Revolution of the liberals.

Which one of the following Viceroys announced a vague offer of dominion status for India in October 1929?

A Lord Mountbatten. B Lord Dalhousie. C Lord Irwin. D None of these.

In which one of the following Indian National Congress Sessions, the idea of 'Non-cooperation Movement' was
accepted?

A Lahore Session. B Nagpur Session.
C Calcutta (Kolkata) Session. D Madras (Chennai) Session.

Identify the crop with the help of the following information and choose the correct option:
« This is the second most important Cereal Crop.
« This is a Rabi crop.
« It requires a cool growing season and bright sunshine at the time of ripening.
« It requires 50 to 75cm annual rainfall.

A Wheat B Maize C Rice D Sugarcane

Read the given data in the table and find out the average monthly income of Country A. Choose the correct option.

Monthly Income of Citizens of Two Countries (in Rupees)

I Il 1l \% \Y Average Income
Country A 10500 9800 9500 10000 10500 ?
Country B 6000 6000 6000 6000 50000
A 9500 B 10000 C 10500 D 10060

Which one of the following cities has emerged as the electronic capital' of India?

A Delhi. B Kolkata. C Bangalore. D Hyderabad.

The Non-Co-operation Movement began on which one of the following Dates?

A January 1921. B November 1921. C December 1921. D May 1921.

Which one of the following options prove that India is a quasi-federal state?
1. More powers with Centre
2. Residuary subjects with Centre
3. Equal subjects with Centre and States
1. Currency and Railways with Centre

A | llland IV B I, Iland IV C Il Illand IV D [, Iland Il

Which one of the following soils develops in an area with high temperature and heavy rainfall?

A Red and Yellow B Black C Alluvial D Laterite

Which of the following is not a feature of a Multi-National Company?
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Q20.

Q21.

Q22.

Q23.
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Q25.

Q26.

Q27.

Q28.

Q29.

Q30.

Q31.

Q32.

A It owns/ controls production in more than one nation. B It sets up factories where it is close to the markets.
C It organises production in complex ways. D It employs labour only from its own country.

In which one of the following Indian National Congress Sessions was the demand of "Purna Swaraj" formalised in
December 19297

A Madras Session. B Lahore Session. C Calcutta Session. D Nagpur Session.

Identify the Crop with the help of the following information and choose the correct option.
1. This is the staple food crop.
2. This is a Kharif crop.
3. It requires high temperature and high humidity.
4. It requires above 100cm of annual rainfall.

A Wheat B Maize C Rice D Jwar

Which one of the following has been the major source of foreign exchange for IT industry?

A BHEL. B SAIL. C BPO. D OIL.

In which one of the following places Mahatma Gandhi organised Satyagraha for the first time in India?

A Dandi. B Ahmedabad. C Kheda. D Champaran.

Globalisation does NOT involve which one of the following?

A Rapid integration between countries.
C Increased taxes on imports. D Movement of people between countries for
jobs, education etc.

Choose the correct option to fill in the blank. For comparing countries, their is considered to be one of the
most important attributes by the World Bank
A Education B Income C Health Status D Living Standard

Which one of the following organisations lays stress on liberalisation of foreign trade and foreign investment?

A International Monetary Fund. B International Labour Organisation.
C World Health Organisation. D World Trade Organisation.

Which one of the following logos is used for standardisation of agricultural products?

A LS.l B Hallmark. C Agmark. D I.S.0.

From which of the following countries Giuseppe Garibaldi belonged to?

A Austria B ltaly C Greece D Spain

Which one of the following is a major benefit to a local company which goes for joint production with an MNC?

A MNC provides Money and Technology to local B MNC takes all decisions to reduce burden of local
company. company.

C MNC purchases all shares of local company for D MNC might ask for labour and capital investment
faster production. from local company.

Why did Gandhiji withdraw the Non-Co-operation Movement?

A Gandhiji realised that people were losing interest in B Gandhiji felt the movement was turning violent in

the movement. many places.
C Some Congress leaders wanted to participate in D Some Congress leaders wanted more radical mass
elections to Provincial Council. agitations.

Why did Nationalists in India tour villages to gather folk songs and legends? Choose the most appropriate reason
from the following:

A Nationalists wanted to study their own culture. B Nationalists wanted to publish it and earn money.
C Nationalists did it because it gave a true picture of D Nationalists wanted to keep folk culture intact.
traditional culture.

B More goods and services moving between countries.
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Q44.

Which two languages among the following are prominently spoken by Belgium

Nationals?
A French and English. B Dutch and French. C Russian and Dutch. D Russian and French.
Which one of the following is not a characteristic of 'Special Economic Zone'? 1 Mark
A They do not have to pay taxes for a long period. B Government has allowed flexibility in labour laws.
C They have world class facilities. D They do not have to pay taxes for an initial period of
five years.

Which one of the following is a major benefit to an MNC when it works on joint production with a local company? 1 Mark
A MNC shares its latest technology with the local B MNC decides all parameters and prices of the

company. product.
C MNOC shares its institutional policy with local D MNC built good and familial relations with the local

company. company.

Which one of the following was the main reason for Mahatma Gandbhi to call off the Non-Cooperation Movementin 1 Mark
19227

A The Jallianwala Bagh incident. B Khilafat movement.
C The passing of the Rowlatt Act. D The Chauri-Chaura incident.

When was the Wildlife Protection Act implemented?

A 1972 B 1978 C 1980 D 1985

Match the following and choose the correct option.

(Leader) (Role)
a Victor Emmanuel I.  |Chief Minister of Italy
b (Guiseppe Mazzini Il.  [Young ltaly Movement
ic |Guiseppe Garibaldi Ill. (Conquered the Kingdom of Sicillies
d |Count Cavour IV. Proclaimed as king of Unified Italy
ALV BIllIVII
C IVl DIIVIIN

In which of the following years Mahatma Gandhi inspired the peasants of Champaran district of Bihar to struggle
against the oppressive plantation system:

A 1916. B 1917. C 1918. D 1919.

Who, among the following was the author of the famous book 'Hind Swaraj'?

A Shaukat Ali. B Subhas Chandra Bose. C Jawahar Lal Nehru. D Mahatma Gandhi.
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Which one of the following is not true about the female allegory of France?
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A She was named Marianne. B She took part in the French Revolution.
C She was a symbol of national unity. D Her images were marked on coins and stamps.
Which of the following is a ‘barrier’ on foreign trade? 1 Mark
A Tex on import. B Quality control. C Sales tax. D Tax on local trade.
Choose the correct option from the following regarding Central Powers in the First World War: 1 Mark
A Germany, Austria-Hungary and Ottoman Turkey B Britain, France and Russia
C ltaly, Japan and Russia D France, Austria-Hungary and China
Which one of the following statements is not related to the Gandhi-Irvin Pact. 1 Mark
A Gandhiji agreed not to launch any further mass B Gandhiji agreed to participate in the Round Table
agitations against the British. Conference.
C Gandhiji decided To call off the Civil Disobedience D The British agreed to release the political prisoners.
Movement.

Cargill Foods'is the largest producer of which of the following in India®? 1 Mark




Q45.

Q46.

Q47.

Q48.

Q49.

Q50.

Q51.

Q52.

Q53.

Q54.

Q55.

Q56.

Q57.

A Medicines. B Asian Paints. C Edible oil. D Garments.

Which one of the following agreements gave reserved seats to the 'Depressed Classes' in Provincial and Central
Legislative Councils?

A Lucknow Pact. B Gandhi - Irwin Pact. C Poona Pact. D None of these.

“When France sneezes, the rest of Europe catches cold”. Who among the following said this popular line?

A Guiseppe Mazzini. B Matternich. C Otto Von Bismarck. D Guiseppe Garibaldi.

Which one of the following organizations prepares the ‘World Development Report’?

A World Bank B International Monetary Fund
C World Health Organisation D International Labour Organisation

Which one of the following aspects was the base of the Bretton Woods system?

A Military system B Cultural system C Economic system D Historical system

Which one of the following is true about the 'Treaty of Constantinople' of 18327

A It recognised Turkey as an independent nation. B It recognised Greeceas an independent nation.
C It recognised Germany as an independent nation. D It recognised France as an independent nation.

Which among the following was the main reason for the weavers to revolt against contractors in Silesia, in 1845?

A Contractors reduced their payments drastically. B They stopped the supply of raw materials to them.
C They refused to place orders for finished textiles. D Condition of weavers was very pitiable.

Which one of the following statements is false regarding the act of Union 17077

A It was an agreement between England and Scotland. B It was an agreement between England and Ireland.
C It resulted in the formation of the 'United Kingdom of D It gave England control over Scotland.
Great Britain'.

Which one of the following types of government was functioning in France before the revolution of 17897

A Dictatorship. B Military. C Body of French Citizen. D Monarchy.

Which one of the following statements is false regarding the Zollverein formed in 18347?

A It abolished trade barriers. B It reduced the number of currencies.
C It had most of the German states as members. D It abolished feudal system.

Which one of the following is not true about the female allegory of France?

A She was named Marianne. B She took part in the French Revolution.
C She was a symbol of national unity. D Her characteristics were drawn from those of Liberty
and the Republic.

What types of conservative regimes were set up in 1815 in Europe? Choose the appropriate answer for the
following:

A Autocratic. B Democratic. C Aristocratic. D Dictatorial.

Which one of the following states was ruled by an Italian princely house before unification of Italy?

A Kingdom of Two Sicilies. B Lombardy.
C Venetia. D Sardinia-Piedmont.

Match the columns.

Column A Column B
(a) Hartal (i) |Refused to deal with or associate with someone or with something.
(b) Boycott (i) [To strike off work, a form of demonstration
(c) Begar (iii) Form of salutation
(d) [Salam (vi) Deprive some one of the service of washer man
(e) Dhobi-bandh |(v) |Forced or bonded labour without payment
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Q58.

Q59.

Q60.

Match the following.

Reserved fore i Other forests and wastelands belonging to both government and private individual

a. . "
sts s and communities.

Protected fore i Forests are regarded as most valuable as far as the conservation of forest and wil

b. il .
sts dlife resources.

Unclassed for |i
C'ests i Forest lands are protected from any further depletion.

Match the following.

(i) MNCs buy at cheap rates from small producers. (a) Automobiles.

(ii) | Quotas and taxes on imports are used to regulate trade. (b)(:r:?ents, footwear, sports i
f;l Indian companies who have invested abroad. (c)Call centres.

f’i) IT has helped in spreading of production of services. (d);ata Motors, Infosys, Ranbax
) fg:jtzzlnMNCs have invested in setting up factories in India for pr (e) Trade barriers.

Mark the option which is most suitable:

ASSERTION (A): Individual Resources are owned privately by individuals like cars, houses, lands.

REASON (R): Community resources are accessible to all the members of the community like burial grounds, village
ponds etc.

A If both assertion (A) and reason (R) are true and B If both assertion (A) and reason (R) are true but
reason (R) is the correct explanation of assertion (A). reason (R) is not the correct explanation of assertion
(A).
C Assertion (A) is true but reason (R) is false. D Both assertion (A) and reason (R) are false.
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